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Let the focal chord PQ of the parabola yz=41 make an angle of 60° with the positive x-
axis, where P lies in the first quadrant. If the circle, whose one diameter is IS, S being the

focus of the parabﬂla, touches the y-axis at the point (0, o), then 502 is equal to :

Options :

6034213061, 12
6034213062, 20
6034213063, 29

6034213064, 20
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Question Number : 1 Question Id : 603421901 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A W& y2=4x H1 T a1 PQ AHF -3 § 60° FH 0 FAK &, STl g P yom
Fquie 7 €1 afs e it AfY foig S W T i PS 1 Uk = Wkt @i T4 99, y-314 6l foig
(0, o) T T FIAT T, T 502 TR T :

Options :

6034213061, 12
6034213062, 20
6034213063, 22

6034213064. 30

Question Number : 2 Question Id : 603421902 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
Let z be a complex number such that |z ‘=1. It 2+—k_z =kz, k € R, then the maxdimum
k+z

distance of k +ik? from the circle |2 —(1+2i ]|= 1is:

Options :

6034213065 V3+1

6034213066, 2

6034213067. V5+1

6034213068. 3

Question Number : 2 Question Id : 603421902 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 + k2

Wz@mﬂm%mmhhlﬁl ?TIZGIT = kz,kER,%,?ﬂﬁ?l |z—(1+2i ]|=1
H k+ik2 =t 2Afeeran g € ¢

Options :

6034213065 V3+1
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6034213066, 2

6034213067, V5+1

6034213068,

Question Number : 3 Question Id : 603421903 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If 0 € [ — 2, 27], then the number of solutions of 242 cos? H+(2—JE}CUSH—J§=D, is equal

to :
Options :

6034213069, O
6034213070, ©
6034213071, 10

6034213072, L2

Question Number : 3 Question Id : 603421903 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AG 0 € [—2m, 2] B, T WHEW 242 cos® 0+(2-/6 ) cos0—/3=0, F Tl =l HEM T :
Options :

6034213069, O
6034213070, ©
6034213071, L0

6034213072, 12

Question Number : 4 Question Id : 603421904 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
I2

2
If Sand S are the foci of the ellipse E -+ % =1 and Pbe a point on the ellipse, then

min(SP-S5'P) + max(SP-S'P) is equal to :
Options :
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3(1+v2)

6034213073.

3(6+v2)

6034213074,
6034213075, 7

6034213076, 27

Question Number : 4 Question Id : 603421904 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 2 )
A o+ L 1 e s sfs # oit g P W E, @

min(SP-S'P) + max(SP-SP) s&R ¥ :
Options :

3(1+v2)

6034213073.

3(6+v2)

6034213074.
6034213075. 9

6034213076, 27

Question Number : 5 Question Id : 603421905 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let ABCD be a tetrahedron such that the edges AB, AC and AD are mutually
perpendicular. Let the areas of the triangles ABC, ACD and ADB be 5, 6 and 7 square

units respectively. Then the area (in square units) of the ABCD is equal to :

Options :
6034213077. ?"‘E

6034213078, 12

6034213079. ¥ 110

6034213080. ™ 340

Question Number : 5 Question Id : 603421905 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

HH ABCD T Iduheish ¢ fordeh fohai AB, AC 3R AD WER weed @ | "M Bysii ABC,
ACD 3R ADB & &% H: 5, 6 3R 7 71 1% & | @ BIYsI BCD &1 &5%al (37 a8 o)
T T :

Options :

6034213077. ?ﬁ

6034213078, 12

6034213079. *~ 1o

6034213080. ™ 340

Question Number : 6 Question Id : 603421906 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The largest neN such that 3" divides 50! is :

Options :

6034213081, 23
6034213082, 22
6034213083, 21

6034213084, 20

Question Number : 6 Question Id : 603421906 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aAfereRad neN, fomar feu 3n, 501 ) faufsa a1 &, &

Options :

6034213081, 23
6034213082, 22
6034213083, 21

6034213084, 20

Question Number : 7 Question Id : 603421907 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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e . _: X
For o, B, y € R, if 1jm 2 sinax + (y—1)e

= 3, then B +vy—aisequal to:
x—0 sin2x — Bx

Options :
6034213085, — L

6034213086, 4
6034213087, ©

6034213088, 7

Question Number : 7 Question Id : 603421907 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x2 sinax + (y—1)e*

qﬁi{a,B,*yER%FﬁfTQliln =3%,?|3IB+T—QW%:

x=0 sin2x — Bx
Options :
6034213085, — L

6034213086, 4
6034213087, ©

6034213088, 7

Question Number : 8 Question Id : 603421908 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the function f(1)= 2x3 —9ax2+ 12a2x + 1, where a > 0, attains its local maximum and
local minimum values at p and g, respectively, such that p2=q, then f{3) is equal to :

Options :

6034213089, 7
6034213090, 22
6034213091, 10

6034213092. 23

Question Number : 8 Question Id : 603421908 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g Be fix) =213 —9ax2+12a%x +1, a > 0, % o837 p 3 q W HAM: MY Afeeran 377
A fAam 7 € qe pl=q %, @ A3) W & :
Options :

6034213089, 7
6034213090, 22
6034213091, 10

6034213092. 23

Question Number : 9 Question Id : 603421909 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of sequences of ten terms, whose terms are either 0 or 1 or 2, that contain
exactly five 1s and exactly three 2s, is equal to :

Options :

s

6034213093, 4

2

6034213094, 360

6034213095, 1820

6034213096, 2020

Question Number : 9 Question Id : 603421909 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10 921 % o170, T o o1 A2 aan fod aa a1, SR AR @9 2 8, 1 H=n €

Options :

6034213003, 45
6034213094, 260
6034213095, 1820

6034213096, 22020

Question Number : 10 Question Id : 603421910 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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xZ_y_Z

Let one focus of the hyperbola H: 5 s = 1 be at (Jﬁ,n] and the corresponding
b

e

directrix be x = i . If e and [ respectively are the eccentricity and the length of the latus

J10

rectum of H, then 9(e? + I) is equal to :
Options :
6034213097 12

6034213008, L6
6034213099, 12

6034213100, 14

Question Number : 10 Question Id : 603421910 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 2 ; 9
xSy Pt x =
nmaxﬁﬂzamH.a_z-b_z_1ﬁwﬁﬁw(Jm,n]m%sﬁIW x m%mﬁc{
H &1 Sehsar 3R fvea sian 1 e oo e 3§ @ 9(e2 + 1) T T :

Options :
6034213097, 12

6034213098, 16
6034213099, 12

6034213100, 14

Question Number : 11 Question Id : 603421911 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- A B B I
If @ is a nonzero vector such that its projections on the vectors 2i—j+2k, i +2j-2k

M —
and f are equal, then a unit vector along a is:

Options :
= [ 7i+9j 52]
6034213101. 155
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ﬁ[—??w}w?]
6034213102.

L[??w}} - 5}?}
6034213103. Jﬁ

ﬁ[??w? + 51’3}
6034213104.

Question Number : 11 Question Id : 603421911 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= AN AN s N A
af T YA GEY a Wk afedi 20— 42k, i+2j-2k i k W udw gweR £ @ 4 ¥

Y Tk HEE GGy ©
Options :
T [ 77497 52]
6034213101. 155
1 AL AL A
[ 7:+9}+5kj
6034213102. 155
> [ 97 SJ?J
6034213103. 155
N
V155

6034213104.

Question Number : 12 Question Id : 603421912 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be the set of all functions f: Z — Z and R be a relation on A such that
R={(f, g) : [0)=g(1) and f(1)=g(0)}. Then Ris:

Options :
6034213105, Reflexive but neither symmetric nor transitive

Symmetric but neither reflective nor transitive
6034213106. -~
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6034213107, Transitive but neither reflexive nor symmetric

6034213108, Symmetric and transitive but not reflective

Question Number : 12 Question Id : 603421912 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HAT At el f: Z — Z F S A © SR A W TE G644 R={(f, g) : f(0) =g(1) 3 f{1)=g(0)
HRIAR

Options :

T ¢ fohg A A Wi € € o §

6034213105

G & o A o oo € A & e ¢

6034213106

 HohTeh © fohg 7 T Toed © A € wHEG ©

6034213107

G SR HohTHR ¢ fohg Toqed T ¢

6034213108

Question Number : 13 Question Id : 603421913 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x+3_y—-1_z+4 QR=5

Let the vertices Q and R of the triangle POR lie on the line = 5 5

and the coordinates of the point P be (0, 2, 3). If the area of the triangle POR is % then :
Options :
6034213109, 5M—21v2n =0

6034213110, DM —2+21n=0
6034213111, M—5~+21n=0

6034213112, 2m—5421n=0

Question Number : 13 Question Id : 603421913 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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x+3 _y—-1_z+4
5 2 %
e (0, 2,3) &1 af Frt POR 1 & — %, 7

Options :
6034213100, DM =212 =0

T B19s PQR % 3 Q SR R @ W € QR=5¢ 3 foig P

6034213110, DM —2~/21n=0
6034213111, M—5+21 n=0

6034213112, 2m—5+421n=0

Question Number : 14 Question Id : 603421914 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f: R — R be a twice differentiable function such that
(sinx cosy)(f2x +2y) — f(2x — 2y)) = (cosx siny)(f(2x +2y) + f(2x —2y)), for all x, y € R.

1 5
If F(0)= 5 then the value of 24 f" 3 is :

Options :

6034213113, 2

6034213114, — 2
6034213115, 2

6034213116, — 2

Question Number : 14 Question Id : 603421914 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HH T Bl f: R — R 3 91 daehed & a9 941 x, y e R & foTQ

(sinx cosy)(f2x +2y) — i2x —2y)) = (cosx siny)(f2x +2y) + f(2x—2y)) ¥1 AE fF(0)== %

1
2
5
4f| 5 | WEAE:
Options :

6034213113. 3
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6034213114, — 2
6034213115, 2

6034213116, — 2

Question Number : 15 Question Id : 603421915 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= = W
[ T e T

1
Let a e R and A be a matrix of order 3 X 3 such that det (A)=—4and A+ I= |2
a

where [ is the identity matrix of order 3x 3. If det ((a+1)adj((a—1)A)) is 2™ 3", m,
ne {0, 1, 2.. 20}, then m+n is equal to:

Options :

6034213117, 14
6034213118, 19
6034213119, 106

6034213120, 17

Question Number : 15 Question Id : 603421915 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

€, Sl

—_ =
N O o=

1
Al a e R T A1 3hITE 3 x 3 o Uk 3Tg8 A & 0 det(A)= -4 3R A+ [=|2
da

I, FIfe 3 x 3 o TGHF 37 €1 A4S det ((a +1)adj((a—1A)) = 23", m, ne {0, 1, 2,..., 20}
%, a1l m + n SR % !
Options :

6034213117, 14
6034213118, 12
6034213119, 10

6034213120, L7

Question Number : 16 Question Id : 603421916 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

10
(x+1) (x—1)

The term independent of x in the expansion of [I%’+1—x%’] [x—xl/z] cx>1,is:

Options :

6034213121, 120
6034213122, 210
6034213123, 120

6034213124. 240

Question Number : 16 Question Id : 603421916 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
10
(a+) (7D | s FraRdr AT RE

(x%+1—:r}é] [x—xyz]

Options :

6034213121, 190
6034213122, 210
6034213123, 120

6034213124. 240

Question Number : 17 Question Id : 603421917 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let P, =a"+B", ne N. If P,;=123, Py=76, Pg =47 and P; =1, then the quadratic equation
1 1

having roots — and 3 is:

o B

Options :

P S 4
6034213125, X~ —x+1=0

B oo
6034213126, X~ +x—1=0
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Be po oy
6034213127, X~ —x—1=0

6034213128, X~ +x+1=0

Question Number : 17 Question Id : 603421917 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M Pn=&n+ A", n e N. ) 4 P10=123’ P9=76, PB=47 3R Pl=1 %, a1 9% FEETTE TR T,
1 1 -

[ERER - 3R B %, e

Options :

P S 4
6034213125, X~ —x+1=0

x2+x-1=0
6034213126.

B po oy
6034213127, X~ —x—1=0

.2 ¥ )
6034213128, X~ +x+1=0

Question Number : 18 Question Id : 603421918 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=1

Let A= {: 8 j| a > 0, such that det(A)=0 and a+pB=1. If I denotes 2x 2 identity
matrix, then the matrix (I+A)® is :
Options :

4 - 1}

6 -1
6034213129. *

(257 —64

514 —-127
6034213130. -

[ 766 —255}

1530 -509
6034213131. *

1025 —511

2024 -1024
6034213132. -

Question Number : 18 Question Id : 603421918 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

~1 :

AT A = {: 5 } a >0, det(A)=0 3R a+p=1F13E1, 2 x 2 F THTF IE §, A A=IE
([+A)PB%:
Options :

4 - 1}

6 —1
6034213129. -

(257 —64

514 —127
6034213130. “

[ 766 —255}

1530 —509
6034213131. -

1025 —511

2024 —1024
6034213132, -

Question Number : 19 Question Id : 603421919 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

12 n
. 72
Let ay, a5, ay,.... be in an A.P. such that Z Arg—1= — ?alr a; #0. It Z ay = 0, thenn
k=1 k=1
1S :
Options :

6034213133, 10
6034213134, 11
6034213135, 17

6034213136, 18

Question Number : 19 Question Id : 603421919 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

12
g 72 I <
TMla,, ay ay... W AP.H T iR kzlﬁzk—1= - g a, a1 #0 < | Afg RZ a =0 g din¥:

Options :

6034213133, L0
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6034213134, 11
6034213135, 17

6034213136, 18

Question Number : 20 Question Id : 603421920 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the system of linear equations
3x+y+pz=3
2x+oy—z=—3
x+2y+z=4
has infinitely many solutions, then the value of 223 — 9 is :

Options :

6034213137, 49
6034213138, 43
6034213139, 37

6034213140, 1

Question Number : 20 Question Id : 603421920 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe ek FHieTl e
3x+y+pz=3
2x+ay—z=-3
x+2y+z=4

F 3T T €, ﬁZZB—EJuﬂﬂWH%:

Options :
9

e

6034213137.

&

i

6034213138.

2
|

6034213139.

2
—

6034213140.

Mathematics Section B
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Section Id : 60342174
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5

Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 60342174
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 603421921 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

8042

o

; 2 2 .
If the area of the region {(1 ];}:‘4—9( ‘E:IJEI ’ ],'24;129} is [ BJ o, B e N, then
a+ B is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

1

Question Number : 21 Question Id : 603421921 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

qﬁiﬁ{(x,y}:h—xﬂiyix y<4, 13’0}35[??{?% M -B 1 a,BEN%,ﬁTa+BW

€
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

1

Question Number : 22 Question Id : 603421922 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

The absolute difference between the squares of the radii of the two circles passing through
the point (-9, 4) and touching the lines x+y=3 and x—y=3, is equal to ___

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Question Number : 22 Question Id : 603421922 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

faig (— 9, 4) | BT ST ot T T3 x + 1y =3 3 x— 1y =3 ol TR FH 9 31 gl bl HeArefi
& 91 1 TRUe AW T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 603421923 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

o3
Let [] denote the greatest integer function. If I {%] dx = o — log,2, then o is equal
o Le

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 603421923 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

e’ ;
A [] HewH qUiish Fer © 1At j{ = }d_x:a— log.2, &, ™ o TR T
Ex—l
0
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

1

Question Number : 24 Question Id : 603421924 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Let j : R—>R be a thrice differentiable odd function satisfying
F(x)=0,f (x)=f(x),f(0)=0, f(0)=3. Then 9flog,3) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

1

Question Number : 24 Question Id : 603421924 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

HA f: R—>R T @1 9 SFawaid foamm wed €, S f/(x)>0, f(x)=f(x), f(0)=0, f'(0)=3
&I T FIA 8| A 9f(log,3) TR B N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 603421925 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Three distinct numbers are selected randomly from the set {1, 2, 3, ..., 40}. If the probability,

m
that the selected numbers are in an increasing G.P, is : , gcd{m, n)=1, then m+n is

equal to -

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 603421925 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

= (1, 2,3, ..., 40} 5 ¥ 99 fy=1 St ag=ea I+ St § | At A T8 HeAsdi o U aHue
G.P.ﬂéﬁﬁmﬁm%,gcd{m,n)zl%,ﬂm-an% |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
1

Physics Section A
Section Id : 60342175
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

https://g28.tcsion.com/CAE/pdf-preview 19/66



4/2/25, 9:41 PM Online Question Paper PDF Preview

Number of Questions to be attempted : 20
Section Marks : 80
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 60342175
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 603421926 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation for real gas is given by [P + %]{V—b]= RT, where P,V,T and R are the
' \Y

pressure, volume, temperature and gas constant, respectively. The dimension of ab 2 is
equivalent to that of :

Options :

6034213146. Compressibility

6034213147. Energy density

6034213148, Flanck’s constant

6034213149, Slrain

Question Number : 26 Question Id : 603421926 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e 19 o FHiET H [P +%](V—b}=RT g = fofen ST €, i PV, T 3R R %A

T, A, AYHE SR T fEan € | ab -2 1 fam frefafea =1 fam % aaaes €

Options :

6034213146.

6034213147 L [

6034213148. SEREREIES

6034213149. 3

Question Number : 27 Question Id : 603421927 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - I1.

List - I List - 11
(A) Coefficient of viscosity () [MLOT—3]
(B) Intensity of wave (1) [ML™2T-2
(C) Pressure gradient (I) [M~ILTZ]
(D) Compressibility (V) [ML™IT-1
Choose the correct answer from the options given below :
Options :
6034213150, (L2)-(IV), (B)-(1D), (C)-(), (D)-(I1D)
so3az131sy. -0, (B-(ID), (C)-(IV), (D)-(I)
so3az13152. -0, (B)-(IV), (C)-(1D), (D)~(1T)
6034213153, (N-(IV), (B)-(1), (C(1D), (D)-(1D)

Question Number : 27 Question Id : 603421927 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Geit-1 =1 Geil-11 & 919 el i
-1 -1

(A) T IO () [MLOT-3]
(B) T i e () [ML-2T-2]
(C) == qFomT (I [M~1LT?|
(D) wHreza (Iv) [ML-1T-1]
< fou U fershedi § 9 Wé 39 A

Options :

so3az13150. L-(IV), (B)-(ID), (C)-(D), (D)-(I1T)
so3az1315. -0, (B-(ID), (C)-(IV), (D)-(I)

ranars, (-0, (BHIV), (O-(II), (D)-(1D)

s03a213153, 4-IV), (B)-(1), (C)-(11), (D)-(II)

Question Number : 28 Question Id : 603421928 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A cord of negligible mass is wound around the rim of a wheel supported by spokes with
negligible mass. The mass of wheel is 10 kg and radius is 10 cm and it can freely rotate
without any friction. Initially the wheel is at rest. If a steady pull of 20 N is applied on the
cord, the angular velocity of the wheel, after the cord is unwound by 1 m, would be :

L 4
F=20N

Options :

6034213154, L0 1ad/s

6034213155, 20 1ad/s

6034213156, U Tad/s

6034213157, 0 rad/s

Question Number : 28 Question Id : 603421928 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UG GAAM ki Wek TEHT Rl A iferdl g1 HaNl YT 04 GoAHM o ek =eh ol A1 (=) & =m
SR T ST € | =k 31 FAWM 10 kg 3 55201 10 em ¥ 31R 72 fomn forsdt =iy & woraw= €9 4
HUH T Fehal & | IR H =gk formmrereen # ¢ | af Tl T 20 N &1 U T4 FHuv yged fwa
ST €, @ T % 1 m T G % IYEI , =6k 1 R0 S 8

L
F=20N
Options :

6034213154, L0 Tad/s

6034213155, 2V rad/s

6034213156, S0 Tad/s

https://g28.tcsion.com/CAE/pdf-preview 22/66



4/2/25, 9:41 PM Online Question Paper PDF Preview

6034213157, U rad/s

Question Number : 29 Question Id : 603421929 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A river is flowing from west to east direction with speed of 9 km h~ 1 If a boat capable of
moving at a maximum speed of 27 km h™ 1 in stll water, crosses the river in half a minute,
while moving with maximum speed at an angle of 150° to direction of river flow, then the
width of the river is:

Options :

6034213158, 112.5 m

6034213159, 112.5 /3 m

6034213160, /20 M

6034213161, 000 m

Question Number : 29 Question Id : 603421929 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 74, 9 km h—1 %1 =161 & W11 9fv=m 9 79 foon & yenfed @ Wi g 1 s ferR S@ § 27 km
h~ 1 = Ifehan =rel | 7T T | WeH U Ak 39 9ol i oY e ° 9R 3 €, 5@ fF T2
T % are i 90 | 150° 3 i W Afeehan =e & 91 TfanrE €, 91 761 1 ek §

Options :

6034213158, 1125 m

6034213159, 112.5 x/3 m

6034213160, 70 M

6034213161, 200 m

Question Number : 30 Question Id : 603421930 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A square Lamina OABC of length 10 cm is pivoted at “O’. Forces act at Lamina as shown
in figure. If Lamina remains stationary, then the magnitude of F is :

410N 10N
% B "
i »>10 N
10 em
o Al__10N
10N
Options :
6034213162, 0 (Z€ro)

6034213163, 20 N
6034213164, L0 N

6034213165, 1042 N

Question Number : 30 Question Id : 603421930 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
%S 10 cm %1 T GPeRR 9261 OABC, ‘0" T YU (hicifehd ) € | 92a1 W 9 fo=1 #§ g9 e
AR FTE € | Afe yeet formmrereen # 1 Tt €, d F 1 9w € ;

10 N 410N
L B N
i »10 N
10 cm
& Al 10N
YiION
Options :

6034213162. 0 (qu)

6034213163. 20N

6034213164, L0 N
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6034213165, 1042 N

Question Number : 31 Question Id : 603421931 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In an adiabatic process, which of the following statements is true ?
Options :

Work done by the gas equals the increase in internal energy
6034213166.

The internal energy of the gas decreases as the temperature increases
6034213167.

6034213168, The molar heat capacity is zero

6034213169, The molar heat capacity is infinite

Question Number : 31 Question Id : 603421931 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T T5mq yopd o, fFefafea § @ fR-w s g g 2

Options :

034213166, TH BRI fehaT T R SAT=AeR Sl W GiErd o s el €

AIHE F =4 F 1Y T 1 A=afie Hol "l

6034213167.

TeR ST MRar 71 et |

6034213168.

6034213160, TR SioHT STl 3= Bt © |

Question Number : 32 Question Id : 603421932 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Moment of inertia of a rod of mass ‘M’ and length ‘L" about an axis passing through its
center and normal to its length is ‘a’. Now the rod is cut into two equal parts and these
parts are joined symmetrically to form a cross shape. Moment of inertia of cross about an
axis passing through its center and normal to plane containing cross is :

Options :
6034213170.

6034213171, /2
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6034213172, /8

6034213173, &/ 4

Question Number : 32 Question Id : 603421932 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SHM ‘M’ SR TS ‘L il U BE &, 39 &% § eiohl TR & AR THeh| Tz o Afer
& o IS, STV ‘o’ T 376 TS h1 &1 S@ 9FN T H12T 1 © 3R 3 9F1 I TF hi9
AR S % feIu THiAG &9 | Sirel i1 8 1 39 9 1, A9 =2 9 B o1 T8 3R HH &
Yeh qc1 o AT 3781 % HIUe] TEd-3Td ¢

Options :
6034213170.

6034213171, /2

6034213172, &/ 8

6034213173, /4

Question Number : 33 Question Id : 603421933 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle s subjecl'ed to two simple harmonic motions as :

Xq =ﬁsi_t15t cm

and X2 =247 si_n{St = %] -

where x is displacement and { is time in seconds.
The maximum acceleration of the particle is x X 10 ~2 ms~ 2. The value of x is :

Options :
6034213174. 25\'{?

6034213175. Sﬁ

6034213176, 129

6034213177 175

Question Number : 33 Question Id : 603421933 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

TF T Rl AR S e STed Tfaal e S @
x; =~/7sin5t cm

el x fareem & iR ¢ Gehve | 999 21
39 FHIT R 3fRaH S X102 ms 281 x FT HA T
Options :

6034213174. 25\'{?
6034213175. Sﬁ

6034213176, 125

6034213177, 17D

Question Number : 34 Question Id : 603421934 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A small bob of mass 100 mg and charge +10 nC is connected to an insulating string of
length 1 m. It is brought near to an infinitely long non-conducting sheet of charge density
‘o’ as shown in figure. If string subtends an angle of 45° with the sheet at equilibrium the
charge density of sheet will be.

F
(Given, ED=8.85 x 10— 12 E and acceleration due to gravity, g=1l] ;ﬂz)

45° I=1m

+
q
++++++++++

+10 pC

Options :

- 2
6034213178, 1-77 nC/m

2
6034213179, 0-885 nC/m
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- 2
6034213180, 177 nC/m

2
6034213181, 085 nC/m

Question Number : 34 Question Id : 603421934 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ZSAHH 100 mg 3 SR +10 wC F TF BN 7T 1 TS 1 m i TH aReF S} 4
Harfera e stran 2138 for © 29U T S AR oE oA ‘o’ 1 SR B9 8§ ot SEeth
e & THT A1 ST € | e Wremaen W SR 96l F 9o 45° F FH0 A Al g, A 59
=GT FT AT T9cd BT

F
(T TN R, € =8.85 x10~12 — it Teeeta WU g =10 )
5

+
q
++++++++++ >

Options :

1.77 nC/m?

6034213178

2
6034213179, 0-885 nC/m

: 2
6034213180, 17+ nC/m

2
6034213181, 089 nC/m

Question Number : 35 Question Id : 603421935 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The battery of a mobile phone is rated as 4.2 V, 5800 mAh. How much energy is stored in
it when fully charged ?

Options :

6034213182. 244 1
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6034213183. 87.7 K]

6034213184. 48.7 K]

6034213185. 438 K

Question Number : 35 Question Id : 603421935 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T HiaEd HF $ Sl F 4.2 V, 5800 mAh geAifwa fFan wan 21 qofa: smafm e w ad
Rt @il Hafad 2dl €2

Options :
6034213182. 244 4

6034213183. 87.7 K]

6034213184. 48.7 K]

6034213185. 438 K

Question Number : 36 Question Id : 603421936 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The relationship between the magnetic susceptibility (x) and the magnetic permeability
() is given by :

(g is the permeability of free space and p, is relative permeability)

Options :
=w. +1
6034213186, X Mr
y=1-1
6034213187. B0
=1 -1
6034213188, Ko
6034213189, Ko

Question Number : 36 Question Id : 603421936 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(o FaT T graepsfierar aiy, ., smafarr rashefier )

Options :

=pm.+1
6034213186, X P
6034213187, R0
6034213188, R0
6034213189, R0

Question Number : 37 Question Id : 603421937 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider two infinitely large plane parallel conducting plates as shown below. The plates
are uniformly charged with a surface charge density +oand —2o0. The force experienced

by a point charge + g placed at the mid point between two plates will be :

o

d/2  d/2

/ +q
+o
Options :

3oq

ZEG
6034213190.

oq

6034213191, 20

3oq

4E0
6034213192.

o9

6034213193, €0
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Question Number : 37 Question Id : 603421937 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 e7ufifra w9 ¥ el Tuae GH=R =ersh afzewedl W faer =, S fe A= gwtan w2
+0 AR —20 F TS Y TG F WY UfHN THAHH T § AR ¥ 1 E afeemei F
ot % HeA-fag W Rea weF fag syl + q 510 STYa &t o

A

d/2  d/2

«— 1 — P>

/ +q /
+ao —20
Options :

3oq

2E,[]
6034213190.

o9

6034213191, €0

3oq

6034213102, €0

il §

4Eﬂ
6034213193.

Question Number : 38 Question Id : 603421938 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let Bl be the magnitude of magnetic field at center of a circular coil of radius R carrying

current I. Let B, be the magnitude of magnetic field at an axial distance ‘x” from the
Br .

center. For x : R=3:4, =2 is :
By

Options :

6034213194, 20 : 16
6034213195, 16 : 25
6034213196, 413
6034213197, 64 1125
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Question Number : 38 Question Id : 603421938 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o1 o By, R [ aTeeh, 5541 R w1 Tk Jeh FUSel o ohg 93 kg &5 1 IR B
A1 T B, % W 31af@ g ‘v W e &9 9REm 21 x: R=3:4 % fag, 3—2%:
1

Options :

6034213194, 29 : 16
6034213195, 16125
6034213196, 415

6034213197, 64 = 125

Question Number : 39 Question Id : 603421939 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A point charge +q is placed at the origin. A second point charge +9q is placed at
(d, 0, 0) in Cartesian coordinate system. The point in between them where the electric
field vanishes is :

Options :

6034213198. (8d/4,.0,0)

6034213199. (d/4.0. Q)

6034213200. {d‘/S’ 0. []]

6034213201. (#d/3,.0,0)

Question Number : 39 Question Id : 603421939 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wF fag e +q ga-fag W fed 81wk g80 fag o6y +9q e fHeuid gonel H
(d, 0, 0) W fEerd T | 37F o 1 92 farg, <Tel Igd & ow & 9 €, §

Options :

6034213198. (@d/4, 0,0)

6034213199. (d/4.0. Q)
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6034213200. (d/3,0. Q)

6034213201. (/3. 0,0)

Question Number : 40 Question Id : 603421940 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A light wave is propagating with plane wave fronts of the type x+ 1+ z=constant. The
angle made by the direction of wave propagation with the x-axis is :

Options :

L B
COs eerrs
3
6034213202.

~1{1
cos 1 {—
6034213203, 3

-1
6034213204. S (%]

cos | [L]
6034213205. ﬁ

Question Number : 40 Question Id : 603421940 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T TS T x + iy + 2 = 3TN, R F HHqe! T 3 918 Hao T @ © | 70 H=w i faem

BT x-3187 o T 1 T4 R0 ©
Options :

B
COs m—
3
6034213202.

~1:f13
cOs 1 (—]
6034213203, 3

-1
6034213204, > (75)

cos | [L]
6034213205. JE
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Question Number : 41 Question Id : 603421941 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A slanted object AB is placed on one side of convex lens as shown in the diagram. The
image is formed on the opposite side. Angle made by the image with principal axis is :

Options :

6034213206, 2

[+]
6034213207, +45

6034213208. — @

=]
6034213209. 45

Question Number : 41 Question Id : 603421941 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ue foeiep a%q (foval) AB Uk 30c1 o0 o Weh &R feerd €, & T s o guiran -2 | wfcfars
foadia air fafifa S @ 1 wfafera g g s & @9 a3 ™ R

Options :

6034213206, 2

[#]
6034213207, +45

6034213208. — @

Q
6034213209. 45

Question Number : 42 Question Id : 603421942 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

O C
i e .-
*"02m R=04m
n._l =1 n2=1.5

A spherical surface separates two media of refractive indices 1 and 1.5 as shown in figure.
Distance of the image of an object "O’, is :
(C is the center of curvature of the spherical surface and R is the radius of curvature)

Options :

0.4 m left to the spherical surface
6034213210.

603421311, 0.4 m right to the spherical surface

6034213212, 0.24 m left to the spherical surface

0.24 m right to the spherical surface
6034213213.

Question Number : 42 Question Id : 603421942 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q C
i m R=04m
HIEIH 1 HIETH 2
ny =1 “2=1'5

T Tietd s for # T9iu T SR sTveieh 1 31X 1.5 % < WeAwl ol 9Ue Sl © | U fo
'O’ % wfafara 1 g0 &

(AT %5 1 Fehal 7 C 3R ka1 B R §)

Options :

e =8 % 0.4 m 90

6034213210.

T I8 % 0.4 m T4

6034213211.

™ I3 % 0.24 m 94

6034213212.

6034213213. i 963 < 0.24 m ST

Question Number : 43 Question Id : 603421943 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Considering Bohr’s atomic model for hydrogen atom :

(A) the energy of H atom in ground state is same as energy of He™ ion in its first excited
state.

(B) the energy of H atom in ground state is same as that for Li* ¥ ion in its second
excited state.

(C) the energy of H atom in its ground state is same as that of He™ ion for its ground
state.

(D) the energy of He™ ion in its first excited state is same as that for Li* ¥ ion in its
ground state.

Choose the correct answer from the options given below :

Options :

6034213214, (A3 (B) only

6034213215, (L) (€) only

6034213216, (B) (D) only

6034213217, ) (D) only

Question Number : 43 Question Id : 603421943 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BIESISH THTY] % fele SR o OEATY] Hige S e | TEd gu

(A) H WA & a0 e | Fei, He * 3139 o1 35! 99H Itiferd sfereen # Sl & THH
B2

(B) H WA ot Fram sreaeen # &, Lit + 3gq & s9ehl fgaid safsa sraeen # o5& &
O Bl &1

(C) H 9= i FeAas stereen § e, Het 31149 ot $Hehl feam staeel | Sl o 961 8l
2l

(D) He* 357 1 SHeh! GUH Jaferd 7€l H FHell, Lit *+ 377 i 58! {an seeen # S
% |HE B B

e fou o foredi § 9 wet SO 9

Options :

%A (A), (B)

6034213214.

Fad (A), (C)

6034213215.

&aa (B), (D)

6034213216.
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%9 (A), (D)

6034213217.

Question Number : 44 Question Id : 603421944 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A monochromatic light is incident on a metallic plate having work function ¢. An electron,
emitted normally to the plate from a point A with maximum Kkinetic energy, enters a
constant magnetic field, perpendicular to the initial velocity of electron. The electron

passes thrnugh a curve and hits back the plate at a point B. The distance between A and
Bis:

(Given : The magnitude of charge of an electron is e and mass is m, h is Planck’s constant
and c is velocity of light. Take the magnetic field exists throughout the path of electron)

Options :

ol

6034213218.

JZm(E - (b} /eB
6034213219. A

m(hS{ — &) /eB

6034213220.

2,/m(hs{ — &) /eB

6034213221.

Question Number : 44 Question Id : 603421944 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ek Tehevi GhreT S FeH el U FT T giEeeh 9 arafad gl € | sifuha fas e %
Y fag A 9 ez & sfyerad:; Icfed Uk o, 79 IREF o o ofvead U
TrEeh &1 H oY Al § | SR Uk a3k § 8RR Al © 311 Ufee § TF fag B W HuZe
FA Tl A B FAITRIUE :

(e T & : SO % STEw T YR e SR FHWM m, h Wik I € 3R c FeR H1 A F |
TR &3 I geraRid % §R0l 9 W farmE wE W)

Options :

ol

6034213218.
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J2m(£ - (b] /eB
6034213219. A

m(hes — ¢) /eB

6034213220.
2. /m(hs/ — &) /eB
6034213221. ( % ]

Question Number : 45 Question Id : 603421945 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A zener diode with 5 V zener voltage is used to regulate an unregulated dc voltage input
of 25 V. For a 400 (} resistor connected in series, the zener current 1s found to be 4 times
load current. The load current (I;) and load resistance (R;) are :
Options :

I} =0.02 mA; R; =250 £}
6034213222.

[, =20 mA; R, =250
6034213223.

I, =10 mA; R, =500 Q
6034213224.

[[=10 A; R =05 Q
6034213225.

Question Number : 45 Question Id : 603421945 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5V o S dlees] o |19 Tk SR ST &1 W4T 25 V 3 Uk At de dieest a9 1 fHaem
F & foag fofan siran €1 9of-sFm ¥ Saifad w400 Q 9fddies & fou s O, 3R (|)
HRT T 4 T 9T ST © 1 SE9R HRT (1) S S8R giadH (R, ©

Options :

[, =0.02 mA; R, =250 O
6034213222.

[, =20 mA; R, =250 Q
6034213223.

[, =10 mA; R, =500 Q
6034213224.

[[=10 A; R =05 Q
6034213225.
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Physics Section B

Section Id : 60342176
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5

Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 60342176
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 603421946 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

A steel wire of length 2 m and Young's modulus 2.0 X 10! N m —2 is stretched by a force.
If Poisson ratio and transverse strain for the wire are 0.2 and 1073 respectively, then the
elastic potential energy density of the wire is X 10° (in SI units).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
1

Question Number : 46 Question Id : 603421946 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

TS 2 m S AT O 2.0 % 101 N m—2 1 e &1 U aR, Tk a1 gRI afd ©1 afc a %
foru @l sar SR 9 fagkfa e 0.2 SR 103 €, 91 ar &1 o fefas = 97
x 105 (SI HEehRT H) B

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 47 Question Id : 603421947 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

A vessel with square cross-section and height of 6 m is vertically partitioned. A small
window of 100 ecm? with hinged door is fitted at a depth of 3 m in the partition wall. One
part of the vessel is filled completely with water and the other side is filled with the liquid
having density 1.5 X 10° kg/mg. What force one needs to apply on the hinged door so
that it does not get opened ?

(Acceleration due to gravity = 10 m/s?)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :
1

Question Number : 47 Question Id : 603421947 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

i ST -9f=e 3 6 m I S4B el Uh UH SwEd: faufaa €1 Feengad gR F 9@y
100 c2 1 U B3 Fagat faursis SR 8 3 m i Tes W) guferd €1 3 &1 U T 5 9
quid: 93§ SR GHT 9T 1.5 x 10° kg/m? =7cd el 59 § 9 € | Tk A 5 Fesgad g T
TR o 1 ST feRan st =nfeT fof 9% 9 Tt ?

(TT&cEd R0 = 10 m/s?)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 48 Question Id : 603421948 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Y 5, 18 the specific heat ratio of monoatomic gas A having 3 translational degrees of freedom.
vg is the specific heat ratio of polyatomic gas B having 3 translational, 3 rotational degrees
of freedom and 1 vibrational mode. If Y& — [1 + l] then the value of n is
Y3 n

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 48 Question Id : 603421948 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

3 WIFRN @ Fifed aredl THhOHE T A T fafme S s v, 813w,
3 Hquit Taras shifed &iiX 1 Frafer faun arcl us agumrss 19 B o1 fafrss S s/ vy €

ﬁif:(l*%]%,?ﬁnmqﬁ g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 49 Question Id : 603421949 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

A person travelling on a straight line moves with a uniform velocity 0y for a distance x

3
and with a uniform velocity v, for the next ) X distance. The average velocity in this
motion is? m/s. If v; is 5 m/s then v,= m/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 49 Question Id : 603421949 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

T @1 T fauH U Afed U g x %mwﬂméﬂznlﬁmaaﬁiwﬁ%x o & form

THYAM ST v, & Y 7fd T 81 39 fd o frEa o %m/s €14 v, 5m/s &
Uy = m/s ¥l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 50 Question Id : 603421950 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

If the measured angular separation between the second minimum to the left of the central
maximum and the third minimum to the right of the central maximum is 30° in a single
slit diffraction pattern recorded using H28 nm ligh t, then the width of the slit is
[ ) . ¢ 8

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 50 Question Id : 603421950 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
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g 628 nm FHW F 3TN Flh Afufaraa (e e ) wF twa 7l foadT 9ed o
T ToaH o TN g Fean iR FEE S=an F g d e & | i wede
30"%,?%%#}?‘[1@%;_ um%l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
1

Chemistry Section A
Section Id : 60342177
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 60342177
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 603421951 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CaCO,(s) + 2HCl(aq) — CaCly(aq) +CO,(g) + H,O(l)

Consider the above reaction, what mass of CaCl, will be formed if 250 mL of 0.76 M HCl
reacts with 1000 g of CaCO; ?

(Given : Molar mass of Ca, C, O, H and Cl are 40, 12, 16, 1 and 35.5 g mol™ L respectively)
Options :
6034213231. 2.272 b

2.636 g
6034213232.

3.908 g
6034213233.

10545 g
6034213234.

Question Number : 51 Question Id : 603421951 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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CaCOj,(s) + 2HCl(aq) — CaCl,(aq) + CO,(g) + H,O(1)
Suger Afuferar W fom {1 Afe CaCO, % 1000 g = 1% 0.76 M HCL %1 250 mL afufsran
Il ® @ CaCl, &1 foha=1 geqwm ffifa am 2

(feam 71 §: Ca, C, O, H T C1 % HieR §o99H A 40, 12, 16, 1 T6 35.5 g mol L ©)
Options :

5.272 g
6034213231.

6034213232,
3
6034213233.

6034213234,

Question Number : 52 Question Id : 603421952 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to Bohr’s model of hydrogen atom, which of the following statement is
incorrect ?
Options :

Radius of 4t orbit is four times larger than that of 20d grbit
6034213235.

Radius of 6th orbit is three times larger than that of 4t orbit
6034213236.

Radius of 8th orbit is four times larger than that of 4th orbit
6034213237.

. 3I‘L‘l o " . : - )
6034213238, Radius of orbit is nine times larger than that of 15t orbit

Question Number : 52 Question Id : 603421952 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TRESH T % 91 Hied & J9ar fefafad Fue § ¥ i e 82

Options :

<ot e i Fean, Sl FEn i o § AR T 9 B

6034213235.

Tl el bl 5, =l Tl i qorl | a1 A 9 ¢

6034213236.

STl el k1 T, =iell shef ol ot | =R A 99l § |

6034213237.

https://g28.tcsion.com/CAE/pdf-preview 43/66



4/2/25, 9:41 PM Online Question Paper PDF Preview

Tt T i T, Teel weEn ol gor | A A 9 8

6034213238.

Question Number : 53 Question Id : 603421953 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Thermometer ]
ﬂ Stirrer

——

Two vessels A and B are connected via stopcock. The vessel A is filled with a gas at a
certain pressure. The entire assembly is immersed in water and is allowed to come to
thermal equilibrium with water. After opening the stopcock the gas from vessel A expands
into vessel B and no change in temperature is observed in the thermometer. Which of the
fo]lowing statement is true ?

Options :

6034213239, dw#0

6034213240, L4*0

6034213241, dU#0

6034213240, The pressure in the vessel B before opening the stopcock is zero

Question Number : 53 Question Id : 603421953 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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angaTdt

U A TE B AN (R HF) FEUFSE | T Afredt A se mud Tm @ swgen el @
TS 1 STt § g faa T € aen S/ S & WY A wreTeen 9 e fem war ¥ =i wiE
I Eier A A | | ura B H ywfia St ® qon amirfiex § i ot uftads 72 dfera fram
frefafea wemi § A FA T T2

Options :

6034213239, dw#0

dq;t{]
6034213240.

6034213241, LU#0

Y Fich GieH F 94 I B H T@ I T

6034213242.

Question Number : 54 Question Id : 603421954 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following graph correctly represents the plots of KH at 1 bar for gases in
walker versus temperature?

Options :
O
T N
Ky
———|/ He
GPa
6034213243. t/°C
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He
T AN,
Ku
GPa
CHy
6034213244. t‘/nc
I )
KH He
GPa
6034213245. 1:/0(:
Ku
GPa
He
0,
6034213246. t/°C

Question Number : 54 Question Id : 603421954 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Freferfad # | FF-]1 IT% ST § 1 bar W41 & K, Vs. AHM F G FH Fel-Hel 90

FLA B ?
Options :
O,
T Ny
Ky
H
o /e\
6034213243, t/ °C
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T He
N
Ky 5
GPa
/CN

t/°C—>

6034213244,

O,

f >
KH He
GPa

t/°C—>

I
Ky
He
Oy

t/°C—>

6034213245.

6034213246.

Question Number : 55 Question Id : 603421955 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solution is made by mixing one mole of volatile liquid A with 3 moles of volatile liquid B.
The vapour pressure of pure A is 200 mm Hg and that of the solution is 500 mm Hg. The
vapour pressure of pure B and the least volatile component of the solution, respectively,
are :

Options :

6034213247, 1400 mm Hg, A

6034213245, 1400 mm Hg, B

6034213240, 000 mm Hg, A

6034213250. Sl Hg, B

Question Number : 55 Question Id : 603421955 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

ek Hiel ameqeiiel B9 A Rl A Hiel aroqeitel g9 B o W ffga s vk faerad s T s A
o1 TS e 200 mm Hg & a9 fefe@ 1 amsie™ 500 mm Hg 1 I6 B 31 arsielel Ue faera w1
ey Y AIEie $2F €, HE:

Options :
6034213247, -200 mm Hg, A

6034213245, 1400 mm Hg, B

6034213240, 000 mm Hg, A

6034213250. Ok o Hg, B

Question Number : 56 Question Id : 603421956 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If equal volumes of AB, and XY (both are salts) aqueous solutions are mixed, which of the
following combination will give a precipitate of AY, at 300 K ?

(Given KSP (at 300 K) for AY2=5_2><10_?)

Options :

20%x10-2 M AB,, 20x10"2M XY

6034213251.

15%x10-% M AB,, 1.5x107> M XY
6034213252.

20x10-* M AB,, 0.8 x10~* M XY
6034213253.

3.6xX1073 M AB,, 5.0 X 10~4 M XY
6034213254,

Question Number : 56 Question Id : 603421956 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ff AB, Ts XY (GF @1avl €) Sefta faerai o |0 e =l fufgd fern s ¢ @ fFrefafad
HATSH H ¥ FF 300 K T AY, 3 3@ S ?

(feam T B : AY, ®T K, (300 K W) =5.2x1077)

Options :

20x10~2 M AB,, 2.0 X 10-2 M XY
6034213251.

15x10-* M AB,, 1.5x1072 M XY
6034213252.
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20x10~4 M AB,, 0.8 x1073 M XY
6034213253. 2

3.6x10"3 M AB,, 5.0 x10~4 M XY
6034213254, 2

Question Number : 57 Question Id : 603421957 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Among SD:,_, NFa, NHB, XEFZ, EIF3 and SF4, the hybriclizalion of the molecule with non-
zero dipole moment and highest number of lone-pairs of electrons on the central atom is

Options :

2
6034213255. dsp

3
6034213256, P 4

342
6034213257, SP°d

5]:'3
6034213258,

Question Number : 57 Question Id : 603421957 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SO,, NF,, NH,, XeF,, CIF, Ts SF, # § YT (non-zero) fgqul &l s g qwam] W
Sufeerd WehTeh! Seierzi= ZrHi =1 SAferha™ S arel 319 <l GOl © :

Options :

ds p2

6034213255.

3
6034213256, SP 4

5p3cl2
6034213257.

5p3
6034213258,

Question Number : 58 Question Id : 603421958 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The property/properties that show irregularity in first four elements of group-17 is/ are :
(A) Covalent radius

(B)  Electron affinity

(C) lonic radius

(D) First ionization energy

Choose the correct answer from the options given below :

Options :
6034213259, > B, € and D

6034213260. B Dﬂl}’

A and C Dnly
6034213261.

B and D only
6034213262.

Question Number : 58 Question Id : 603421958 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HYe-17 % YRIF =R deai W Afafdaa weidia w37 aenaet g &€
(A) weEdrsi =

(B)  TereR SRl

(C) @i ==

(D) HoW 3EA 3

= fou o faekedi § | Wl I A ¢

Options :

6034213250, * B, CTED

6034213260, Il B

Feed A TEC

6034213261.

Fad BWE D

6034213262.

Question Number : 59 Question Id : 603421959 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :
Statement (I) : The metallic radius of Al is less than that of Ga.
Statement (II) : The ionic radius of AI** is less than that of Ga3*.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
6034213263 Both Statement I and Statement Il are correct

6034213264, DOth Statement I and Statement II are incorrect
6034213265. Statement I is correct but Statement Il is incorrect

6034213266. Statement I is incorrect but Statement 1l is correct

Question Number : 59 Question Id : 603421959 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ta S FyAfeuu g .

HUA (1) : Al wifess 50 Ga 1 g1 ® &9 2t 21

AT (1) : AR+ i safTes 5531 Ga® + &1 g ® &9 2t ¢ |

STde FHUA o 3T |, A feu T fased § 9 wew Suged W A
Options :

6034213263. SUTl SﬂI eI 11 a:h Hﬁ %

6034213264, P 1 TR SR 1L ST TeTd €

6034213265, a1 HEl ®, T R 11 316 ©

6034213266, 11 TTeRC €, T0q R I WE ©

Question Number : 60 Question Id : 603421960 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement (I) : In octahedral complexes, when A < P high spin complexes are formed.
When A, > P low spin complexes are formed.

Statement (II) : In tetrahedral complexes because of A< P, low spin complexes are rarely
formed.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
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6034213267 Both Statement I and Statement Il are correct
6034213268. Both Statement I and Statement II are incorrect
6034213269 Statement [ is correct but Statement 11 is incorrect

6034213270, Statement I is incorrect but Statement II is correct

Question Number : 60 Question Id : 603421960 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T FUA e €

HUF (I) . STEFAHA HFall H, 56 A < P 21 € 1 39 T=hvl Weped! 1 0101 el € 1 519
A, > P 2 & @ 1 sk S ot fmfor 2 2

FYA (1) : FqUFAHE HFal #, A < P % 101 1 gesko depat forer & ffifa @ €

TG FHUAT % SR o, " fEu e fasmedt § ¥ Wad Suge S g

Options :

6034213267. EMIWEW Ilﬁﬂﬁ%

6034213265, I I 3R SR 11 T TTeral &

6034213269, PATI el €, T Y 11 7Tad ©

6034213270, O L TTeRC €, T R I WE €

Question Number : 61 Question Id : 603421961 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A molecule with the formula AX,Y has all it's elements from p-block. Element A is rarest,
monoatomic, non-radioactive from its group and has the lowest ionization enthalpy value
among A, X and Y. Elements X and Y have first and second highest electronegativity
values respectively among all the known elements. The shape of the molecule is:

Options :
6034213271, Octahedral

6034213272, 11igonal bipyramidal

6034213273, Square pyramidal
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6034213074 L €ntagonal planar

Question Number : 61 Question Id : 603421961 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 AX,Y 9Tt 9] H 56k G T p-sciieh o © | el A A §E § GEINaH, Teh A0S To
Yfedufaea 7 € Ud A, X Td Y H 3R I TR UH JFaH g1 9 X U6 Y * foaea
FONCHERAT W T 1 T H A9 Wom ud fgda wates € | o10) st See §

Options :

6034213271, STZFCTH
6034213272, (AR R
6034213273, 1 TR

6034213274, 14 Iil " | FHAA

Question Number : 62 Question Id : 603421962 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct tests with respective observations.

(A) CuSO, (acidified with acetic acid) + K,[Fe(CN).] — Chocolate brown precipitate.
(B) FeCl,+K,[Fe(CN),] — Prussian blue precipitate.

(C) ZnCl, +K,[Fe(CN).], neutralised with NH,OH — White or bluish white precipitate.
(D) MgCl, +K,[Fe(CN),] — Blue precipitate.

(E) BaCl,+K,[Fe(CN),], neutralised with NaOH — White precipitate.

Choose the correct answer from the options given below :

Options :
6034213275. S Biani DI‘Il}’

B, D and E only
6034213276.

C, D and E only
6034213277.

6034213275\ D and E only

Question Number : 62 Question Id : 603421962 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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wrafd Y&l o T GE 9iaT i g
(A) CuSO, (THifewk a1 o 1Y 3TFiighd) + K, [Fe(CN)y| — FRReRT U a4
(B) FeCl,+K,[Fe(CN),] — M = @&y
(C) ZnCl,+K,[Fe(CN),], NH,OH gRI SEFigd — HHe = Aiel-Hthe @8
(D) MgCl, +K,[Fe(CN), ] — ieT 27adry
(E) BaCl,+K,[Fe(CN),], NaOH gRI SeEHIFd — Fhe &Y
= fou o fasredl # 9 wE S A ¢
Options :

Fad A, BTG C

6034213275.

6034213276, e B, D UGS E

s034213277. T4 C, D TEHE

s034013278. F9A A, DTIE

Question Number : 63 Question Id : 603421963 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On complete combustion 1.0 g of an organic compound (X) gave 1.46 g of CO, and 0.567
g of H,O. The empirical formula mass of compound (X) is g.

(Given molar mass in g mol 1C:12,H:1,0:16)
Options :

6034213279, 12
6034213280, 30
6034213281, 43

6034213282, 60

Question Number : 63 Question Id : 603421963 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
qui S S T Tk i TR (X) %1 1.0 g, CO, F1 1.46 g T H,O &1 0.567 g YSH HLdl

# 1 Aifires (X) 1 g 93 geTHH g ¥
(e @ : SerR g M gmol 1 H : C:12,H:1,0:16)
Options :

6034213279, 12
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6034213280, 30
6034213281, 42

6034213282, 60

Question Number : 64 Question Id : 603421964 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the following compound (X)

I I m IV
H - C=C—CH,— CH—CHj
[
CH,
X)

The most stable and least stable carbon radicals, respectively, produced by homolytic
cleavage of corresponding C —H bond are :

Options :
6034213283. ILI

6034213284. I, 11

6034213285. IL IV

6034213286. LIV

Question Number : 64 Question Id : 603421964 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frefataa =fes (X) |/ o= &1

I o0 m IV
H-C=C—CH,—CH-CH,
|

CH,4
X)
Hd C— H 3@ % FATTsRA] fager @ R fAfHa Gaiferes T ue =ad €6l e o
FA: ¥
Options :

6034213283. ILI

6034213284. I, 11
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6034213285. IL IV

6034213286. LIV

Question Number : 65 Question Id : 603421965 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Designate whether each of the following compounds is aromatic or not aromatic.

Q Q + | _ |
(a) (b) (c) (d)
() (f) (8) (h)
Options :
b, e I, g aromatic and a, ¢, d, h not aromatic
6034213287.
a, ¢, d, e, h aromatic and b, f, g not aromatic
6034213288.
034213289, & b, ¢, d aromatic and e, f, g, h not aromatic
6034213290, & 8 aromatic and a, b, ¢, d, f, h not aromatic

Question Number : 65 Question Id : 603421965 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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et =ifmesi =1 ffde =3 fof g uirifes 8 =1 78 ?

(a) (b)
Oe O
(e) (f)

Options :

+
%
|
|

() (d)

(8) (h)

b, e, f, g TUHIEHF € TH a, ¢, d, h TIHIF T 8

6034213287.

a0 d,e,h@'aﬁa?%@b,f,g@ﬁhﬂ?qﬁ el

6034213288.

a,b,c,dﬁ@lﬁﬁﬁﬁ%@e,f, g,hﬂ’aﬁﬁﬁﬁﬂ?ﬁ Tl

6034213289.

e, g WHfeF B W a, b, ¢, d, f, h TiHfeF 72 B

6034213290.

Question Number : 66 Question Id : 603421966 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An optically active alkyl halide C;HgBr [A] reacts with hot KOH dissolved in ethanol and

forms alkene [B] as major product which reacts with bromine to give dibromide [C]. The
compound [C] is converted into a gas [D] upon reacting with alcoholic NaNH,. During
hydration 18 gram of water is added to 1 mole of gas [D] on warming with mercuric
sulphate and dilute acid at 333 K to form compound [E]. The IUPAC name of compound
[E] s

Options :

6034213201, Butan-2-one

6034213292, Butan-1-al

6034213203, DUtZyne

6034213294, Butan-2-ol

Question Number : 66 Question Id : 603421966 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

T ye0 quies Ufeshel Bemgs C,H,Br [A] ToHTe H focia 7 KOH % |1y sAfufsan e € qen
T IS F ¥9 T UeshiA [B] F1 i wan & S S % my afufEra R Snamee [C) 9
¥ 1 UEmrEtell NaNH,, % | sifufsman o i [C] ue 79 [D] # wftafda & s €1 5 s
ZRM 1 At 719 [D] 333 K W Tt 9cthe U 99 370 & T T4 3 T 18 TH A el
Zifires [E] =1 fafor e 1 9Tk [E] %1 [UPAC 99 © :

Options :

6034213291 157-2- 37

6034213292. o133

F2-2-3TT3A
6034213293.

6034213294 ? -2-3Ie

Question Number : 67 Question Id : 603421967 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the fD]lDwing molecules :

O
Il Il Il
CH;-CH,-C-Cl  CHy—CH,-C—-0O-C—CH,
(p) (@)
" T
CH;-CH,-C-0-CH,~CH; CH;~CH,-C—NH,
(r) (s)

The correct order of rate of hydrolysis is :
Options :

Sp>r>
6034213295. Pt s

reqgq>p>s
6034213296, 1-F

>r>g=s
6034213297 P 4

>g>r>=s
6034213208, P 7 4

Question Number : 67 Question Id : 603421967 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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frefafaEa st 9w fa=m i

[ Il Il
CH;—CH,—-C-Cl CH3;—CH,-C-0-C—CH,
(p) (q)

i i

CH;-CH,—C—-O-CH,-CH; CHj3—-CH,—-C—NH,
(r) (s)

STe1 TS hi <X 1 Hel %A ©

Options :

>p>r>s
6034213295. 1-P

- = =
6034213206, -~ 17 P73

>r> > g
6034213297. P 1

> >r>=5
6034213298. P

Question Number : 68 Question Id : 603421968 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

H
Statement (I) : Vanillin Q) will react with NaOH and also with Tollen's
OCH;,

reagen t.

H
Statement (II) : Vanillin g willundergo self aldol condensation very easily.
OCH,

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
6034213299, Both Statement I and Statement Il are correct

6034213300, Doth Statement I and Statement II are incorrect
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6034213301, Statement I is correct but Statement II is incorrect

6034213302. Statement I is incorrect but Statement 1l is correct

Question Number : 68 Question Id : 603421968 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i €1 pyd few o €

(&}
HIA (I) : WQQAH NaOH o 9191 &f4fsran 0m ud 2fed ATvEwHE & 91y
71

H
a;m{n):a%rﬁﬂg,d < WA § @ (self) TS T HET |

OCH,

YL FeHI o ek 1, H 3 Ty foskedl § | Wed Suga I A ¢
Options :
6034213200, RIS AT 11 T Fel &

6034213300, P 1 ST SR 1L SHT TeTd €

6034213301, ol el B, T YA 1L 7T ©

6034213302, P L TTCRC €, W YT TR ©

Question Number : 69 Question Id : 603421969 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of basic nature in aqueous solution for the bases

NH3, I-I?_N - NHZ, CH3CH2NH2, {CH3CH2)2NH and {CH3CH2}3N is :

Options :

6034213303, NHZ— NHE < NH3 < CH3CH2NH?_ < {CH3CH2]3N < {CH3CH2)2NH

5034713304, NH3 < HZN - NH2 < {CH3CH2)3N < CH3CH?_NH2 < {CHBCHz)zNH

so3az13305. 12N — NHy < NH, < (CHyCH,)N < CHLCHoNH, < (CHLCH,),NH
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034213306, NH; < H,N — NH, < CH,CH,NH, < (CH;CH,),NH < (CH;CH,);N

Question Number : 69 Question Id : 603421969 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

St oo H Al =i Qg Yehfd o HEl % ©

NH,, H,N - NH,, CH,CH,NH,, (CH,CH,),NH, (CH;CH,);N :
Options :
soaaz13303. THa = NH, < NH, < CHLCH,NH, < (CHaCH )N < (CHLCH,),NH

6034213304. H3 E HzN a NH?— = {CH3CH2)3N 5 CH3CH2NH2 % {CHECHZ)ZNH

6034213305. HZN B NHZ % NH3 5 {CH3CH2)3N % CH3CH2NH2 % (CHBCH?_‘)ZNH

034213306, NH; < H,N — NH, < CH,CH,NH, < (CH;CH,),NH < (CH;CH,);N

Question Number : 70 Question Id : 603421970 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the correct statement among the following :
Options :
034213307, All naturally occurring amino acids except glycine contain one chiral centre.

6034213308, All naturally occurring amino acids are optically active.
6034213309.
Amino acid, cysteine can easily undergo dimerisation due to the presence of free SH

group.

6034213310.

Glutamic acid is the only amino acid that contains a —COOH group at the side
chain.

Question Number : 70 Question Id : 603421970 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frefefed § | |&t oA = Ty ;

Options :
6034213307.

TR F Bred] It TrEfaw T ¥ 3 THAT 37l § U FRIE ks IrE Sl @ |
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6034213308.

6034213309.

Online Question Paper PDF Preview

Tff W T § SUee THA 377 o Juish e & |

T ovet Faei= goa SH Tqe 1 3uftafa & FRoT st & 9ry fgaefientor & Jehar 2

6034213310.

TR ST WSRHTH UHHI 377 & foeeht aed Sf@e § T — COOH HHe 39 ¢ |

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Chemistry Section B

60342178
6

Online
Mandatory
5

5

20

0

1
60342178
Yes

Question Number : 71 Question Id : 603421971 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1

Consider the following electrochemical cell at standard condition.

Au(s)|QHy,Q| NH,X(0.01 M)| |Ag™ (1 M)| Ag(s) E.y=+0.4V

The couple QH,/Q represents quinhydrone electrode, the half cell reaction is given below

O

O
Q

Q

Given : EAg*,’Ag

The pKy value of the ammonium halide salt (NH X) used here is

integer)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

1

Question Number : 71 Question Id : 603421971 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

" gena W Fefafeaa sa aerafes da W) faen =
Au(s)| QH,,Q| NH,X(0.01 M)| [Ag* (1 M)| Ag(s) Eey=+0.4V
g QH,/Q UF TrTerEg soiwre # frafud o &, o do sfvfsn e < ¥ -

& OH
- + ’ -
+2e~ +2H+ —» EWQH2 +0.7V
o OH
Q (QH)
. . 2.303RT
fean T @ E,gt/ag = 108V W T=n.nsv}
Tel ITAN foRT T ST SerEe @am (NH,X) &1 pK,, 91 21 (frepeem goufe)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 72 Question Id : 603421972 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

For the reaction A — products.

7
min slope=76.92
(appropriate units)
[A]p/mol L—1 —>
The concentration of A at 10 minutes is %1073 mol L~ (nearest integer).

The reaction was started with 2.5 mol L~ of A.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :
1

Question Number : 72 Question Id : 603421972 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

A — 3are, AfyfeEo & fou

-~

Y

fiee @ =76.92
(SUgdd ALI®)

3

[Alp/mol L—1 —>

10 fo e W A =1 g x10~3 mol L~ 1% (frareaw quie) | sifufshan &1 A% 25
mol L—1 2 |1 9reey fokan T o |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 73 Question Id : 603421973 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Consider the following equilibrium,
CO(g) +2H,(g) = CH,OH(g)

0.1 mol of CO along with a catalyst s present in a 2 dm?3 flask maintained at 500 K.
Hydrogen is introduced into the flask until the pressure is 5 bar and 0.04 mol of CH,OH is

formed. The K‘; is % 1073 (nearest integer).

Given : R=0.08 dm? bar K1 mol !
Assume only methanol is formed as the product and the system follows ideal gas behaviour.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 73 Question Id : 603421973 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
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frefafad greeTen ) faur #:1
CO(g) +2H,(g) = CH;0H(g)
500 K R W@ U 2 dm> T | 36 & 919 CO &1 0.1 Hiel SUMed © | TESeH &l TTsh |

5 bar %1 T@ e T fAemEn T it CH,OH ¥ 0.04 #re ffifa gu1 K, x10~3
¢ (Trepean gout) |
faa 71 € : R=0.08 dm® bar K~ 1 mol~!

AT fof 3e01e 3 ®9 § Faa AdATa w1 fmio € @ € v e aeyt 19 SEEr w1 S
EaGid

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 74 Question Id : 603421974 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

A transition metal (M) among Mn, Cr, Co and Fe has the highest standard electrode
potential (M?>* /M2 *). It forms a metal complex of the type [l‘v.f’I{CI"sT)E,]4 The number of
electrons present in the ey orbital of the complex is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 74 Question Id : 603421974 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Mn, Cr, Co Td Fe H | Tsh GeRHT H1d (M) 1 HHS Foiders fave (M3 +/M2+) I=d9 2 | 98
[M(CN)*~ WeFR 1 91 Tpet e sheen &1 Wt o e, hareh o Sufer Toiagii ohi W
_®I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 75 Question Id : 603421975 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
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0.1 mol of the following given antiviral compound (P) will weigh _  x10°1 g
(nearest integer).

@)
| NH

X

I

O N
HO

HO
(P)
(Given : molar massin g mol 1 H : 1 5 B NG 1, 0506 Fyls. 1 0125

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 75 Question Id : 603421975 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

few e fFreferfea wfifeemgs (&6 aeRer) e (P) H o1 FAF IR x1071g
B (ke gufer) |

0
I | NH
0] N/L 0
HO
HO 3
(P)

(R € :gmol 1 HHeR §=@M : H:1,C:12,N :14,0: 16, F : 19,1 : 127)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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